<ABC>

<Report ReportDate="2022-06-01">

<Group Id="230" Type="Group Name 1">

<Element Id="1059810" Code="30000" Type="Data Name 1">
<Date>2022-05-01</Date>

</Element>

<Element Id="1059811" Code="30010" Type="Data Name 2">
<Date>2022-04-01</Date>

</Element>

<Group Id="241" Type="Group Name 2">

<Element Id="1060047" Code="32080" Type="Data Name 3">
<Value>3.6</Value>

</Element>

<Element Id="1060049" Code="32100" Type="Data Name 4">
<Value>0.03</Value>

</Element>

<Group |d="242" Type="Group Name 4">

<Element Id="1059975" Code="32400" Type="Data Name 7">
<Value>0.03</Value>

</Element>

<Element Id="1059978" Code="32420" Type="Data Name 8">
<Value>0.03</Value>

</Element>

</Group>

<Group Id="243" Type="Group Name 5">

<Element Id="1059963" Code="32280" Type="Data Name 9">
<Value>3.6</Value>

</Element>

</Group>

<Group |d="245" Type="Group Name 6">

<Element Id="1059762" Code="31290" Type="Data Name 10">
<Value>0.15</Value>

</Element>

</Group>

</Group>

<Group Id="253" Type="Group Name 3">

<Element Id="1059956" Code="30980" Type="Data Name 5">
<Value>3.6</Value>

</Element>

<Element Id="1059957" Code="30990" Type="Data Name 6">
<Text Id="1000398">Yes</Text>

</Element>

</Group>

</Group>

<Group Id="226" Type="Group Name 7">

<Element Id="1059686" Code="10000" Type="Data Name 11">

<Text>Test002</Text>

</Element>

<Element Id="1059687" Code="10010" Type="Data Name 12">
<Text>Test003</Text>

</Element>

<Element Id="1059688" Code="10020" Type="Data Name 13">
<Text>Test004< /Text>

</Element>

<Group Id="227" Type="Group Name 8">
<Element Id="1059692" Code="11010" Type="Data Name 14">
<Text>Test001</Text>
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</Element>

<Element Id="1059695" Code="11040" Type="Data Name 15">
<Text>A</Text>

</Element>

</Group>

<Group 1d="228" Type="Group Name 9">

<Element Id="1059696" Code="12000" Type="Data Name 16">
<Text>D</Text>

</Element>

</Group>

<Group 1d="229" Type="Group Name 10">

<Element Id="1059717" Code="13000" Type="Data Name 17">
<Text>tset001154</Text>

</Element>

</Group>

</Group>

<Group Id="225" Type="Group Name 11">

<Element Id="1059676" Code="10" Type="Data Name 18">
<Text 1d="1060261">V1 </Text>

</Element>

<Element Id="1059685" Code="100" Type="Data Name 19">
<Text Id="1000398">Yes</Text>

</Element>

</Group>

</Report>

</ABC>
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